

NAME: Emeni Ashley
MAT NO: 17/Eng02/022
DEPT: Computer Engineering

MATHS ASSIGNMENT

$$y = e^{2x} + x$$

$$y^{(1)} = (2x+1)e^{2x} + 2$$

$$y^{(2)} = 2e^{2x} + (2x+1)(2x+1)e^{2x} + 2$$

$$y = 2e^{2x+2} + (2x+1)^2 e^{2x} + 2$$

$$y'(2x+1) + 2y$$

$$(2x+1)e^{2x+2} + (2x+1) + 2(e^{2x} + x)$$

$$(2x+1)^2 e^{2x} + x + 2e^{2x} + 2$$

$$\text{but } y'' = 2e^{2x+2} + (2x+1)^2 e^{2x} + 2$$

$$y'' = y'(2x+1) + 2y$$

From the equation

Part A

$$A = y', A' = y'', A'' = y^{(3)}, A''' = y^{(4)}$$

PART B

$$B = y'(2x+1)$$

$$u = y', v^{(1)} = y'' + 1$$

$$v = 2x+1, v^{(1)} = 2, v^{(2)} = 0$$

$$B = y'(n+1)(2x+1) + n(y'')^{(n)}$$

$$B^n = (2x+1)y^{(n+1)} + 2ny^{(n)}$$

PART C

$$C = 2y$$

$$C^{(1)} = 2y'$$

$$A^n + B^n + C^n$$

$$y^{(n+2)} = (2x+1)y^{(n+1)} + 2ny^{(n)} + 2y^n$$

$$y^{(n+2)} = (2x+1)y^{(n+1)} + 2ny^{(n)} + 2y^n + 2y^n$$

$$y^{(n+2)} = (2x+1)y^{(n+1)} + 2(n+1)y^n$$

2.10

$$y = x^3 e^{4x}, y^5$$

$$\text{let } u = e^{4x}, v = 4e^{4x}, u' = 4e^{4x}, u'' = 16e^{4x}, u''' = 64e^{4x}, u^{(n)} = 4^n e^{4x}$$

$$\text{let } v = x^3, v' = 3x^2, v'' = 6x, v''' = 6, v^{(n)} = 0$$

using Leibniz theorem

$$y^{(n)} = 4^n e^{4x} \left(x^3 + n \cdot 4^{n-1} e^{4x} \cdot 3x^2 + \frac{n(n-1)}{2!} \cdot 4^{n-2} e^{4x} \cdot 6x + \frac{n(n-1)(n-2)}{3!} \cdot 4^{n-3} e^{4x} \cdot 6 \right)$$

$$= 4^n (n-3) e^{4x} \cdot 6 + 0$$

$$y^5 = 4^5 e^{4x} \cdot x^5 + 3x^5(5) \cdot 4^4 e^{4x} + 3(5)(4) \cdot 4^5 e^{4x} \cdot 2x + (5)(4)(3) \cdot 4^6 e^{4x}$$

$$y^5 = 1024 e^{4x} \cdot x^5 + 3840 e^{4x} \cdot x^3 + 3840 e^{4x} \cdot x + 960 e^{4x}$$

$$y^5 = 64 e^{4x} (16x^5 + 60x^3 + 60x + 15)$$

ii $x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$ shows that $x^2 y^{(n+2)} + (2n+1)x y^{(n+1)} + n^2 y^{(n)} = 0$

for PART A.

$$A = x^2 y''$$

$$u = y'', v^n = y^{n+2}$$

$$v = x^2, v' = 2x, v'' = 2, v^{(n)} = 0$$

$$A'' = (y^{(n+2)}) x^2 + n(y^{(n+2)}) 2x + \frac{n(n-1)}{2} \cdot (y'')^2 + 0$$

$$A'' = x^2 y^{(n+2)} 2x + \frac{n(n-1)}{2} \cdot (y'')^2 + 0$$

$$A'' = x^2 y^{(n+2)} + 2x n y^{(n+1)} + n(n-1) y''$$

for PART B,

$$B = xy'$$

$$u = y', v^n = y^{n+1}$$

$$v = x, v' = 1, v'' = 0$$

$$B'' = (y^{(n+1)}) \cdot x + n(y') \cdot 1 + 0$$

$$= xy^{(n+1)} + n y'$$

for PART C

$$C = y$$

$$C' = y'$$

$$C'' = y'' + 1 = 0$$

~~NAME LAHAL MOHAM~~

$$x^2 y^{(n+2)} + 2x n y^{(n+1)} + (n^2 - n) y^n$$

$$= x^2 y^{(n+2)} + 2x n y^{(n+1)} + (n^2 - n + n^2) y^n = 0$$

$$= x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2+1) y^n = 0$$

$$= 6x + \frac{n(n-1)(n-2)}{3}$$

$$= (4)(3) = 4^2 e^{4x}$$

$$(n+1)x y^{(n+2)} +$$